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Exam Unit (9) 

 
1. Finish the following dialogue (5 M) 

  

Atef    What are you reading? 

Hamdi  (1).................................................................... 

Atef   What is the article about? 

Hamdi  (2).................................................................... 

Atef   Global warming!..............................................? 

Hamdi  It means the increase of temperature. 

Atef   Can we solve this problem? 

Hamdi  (3).................................................................... 

Atef   (4)....................................................................? 

Hamdi  We can solve it by planting more trees.  

Atef  (5)..................................................................... 

 
 
2. Read and complete the text with words from the list (4 M) 
 

give - stay - stayed - grow - simpler - easier 
 

We have lived in the city for many years. We are going to (1).................. up living 
in the city because we want to (2)........................ our own vegetables and live a 
(3)..........................life. If we (4)..................in the city, we wouldn't be able to do 
that.  
 
3. Read the following text, then answer the questions (6 M)  
 A students and his professor saw a pair of old shoes lying in the path. It 
belonged to a poor man who worked in a field nearby. The student wanted to 
play a trick on him, but the professor refused. They agreed on putting a coin 
into each shoe and hide themselves to watch how that would affect the poor 
man. The man soon came to the place where he had put his shoes. While 
slipping his foot into one of his shoes, he felt the coin. The man put it into his 
pocket. When he proceeded to put on the other shoe, he found the other coin. 
His feelings overcame him and he jumped over with joy thanking God. The man 
spoke of his sick wife and his hungry children. The student was deeply affected 
and his eyes filled with tears. “Now, said the professor,” isn’t it much better 
than playing your trick? “the student said that his professor had taught him a 
lesson to remember. 
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a. Choose the correct answer from a, b, c, or d  
1. The lesson behind this passage is to ……………….. 
a. play a trick on the poor     b. put a coin in each shoe  
c. speak of your sick wife     d. try to help poor people 
2. …………….…….. owned the old shoes. 
a. The student       b. The professor  
c. The poor man      d. The rich man 
3. When the poor man found the two coins he was …………………………. 
a. sad    b. pleased   c. angry    d. unhappy 
b. Answer the following questions  
1. Did the student play the trick?  
2. Why did the professor refuse to play a trick on the man ?  
3. What do you think the poor man will do with the money? 
 
4. Choose the correct answer from a, b, c or d (3 M) 
1.  A...................is a young plant or tree grown from a seed. 
a. trunks    b. crops    c. seedling   d. seeds  
2. To form the adjective from "coast" we add the suffix "................". 
a. al     b. ly     c. il     d. dis   
3. Very big is the.....................of enormous.  
a. synonym   b. opposite   c. antonym   d. different  
4. To give the opposite of "expensive" we add the prefix "................" 
a. im    b. in     c. dis    d. miss 
5. "Reduce" and "increase" are ............... 
a. similar    b. synonyms   c. antonyms   d. the same  
6. Farmers always keep animals on their farms. The word "keep" means........ 
a. kill    b. sell    c. buy    d. raise  
 
 
5. Complete the following sentences with the correct form (5 M) 
1. We used to...........................(getting) our shopping in bags.  
2. He used to be lazy, but now she............................(doesn't) lazy.  
3. If I......................(am) rich, I would help the poor.  
4. What ..........................(will) you do if you had money? 
5. If he studied hard, ..........................(he would) get high marks? 
 
 
 6. Write a review of about (110) words on:   (7 M)  
 

"renewable forms of energy" 
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